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O HBL BBNY B
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O H2A 2BANE HSE0
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101 Q124 15,581 15,123 458
04 JIZHIZNSES 15,581 15,123 458
O MAHAZ goex 15,581
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01 2L 1,000 3,500 A2,500

_16_




SH: K ZHOBIE Dt
Ha: MRE

&2 MeHAlE =S4 (ctel: &
- _ = HdE T =
SA - EE L SR(E) - MRAY - HAS 0l &k o4 e bz 2
O EQAE 2g0 HE =AY
1,000,000& 1,000
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01 Al&H| 44,400 20,000 24,400
O =&Y & F=2AME X2l
300,000& = 4= = 128 14,400
O &44EZ IZ HIJIEAIE &X
20,000,000& * 14 20,000
O gds cCtv & 4,000,000 * 2002 8,000
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1,000,000 * 2044 2,000
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= 201,000
= 97,900
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Soterd 2el 23,221 23,813 AB92
101 Q14| 15,581 15,123 458
04 JIZtHIZ22HsSE+ 15,581 15,123 458
O NEZHEREX 22Y 15,581
- JiEas 33,9802 * 1% = 260 8,835
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XS aores st 5,640 5,840 A 200
201 LetIH| 5,640 2,840 2,800
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7,000& = 2% » 5 « 123 840
03 A2 EHI 3,000 0 3,000
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NESSH LA (EX) 404,000 0 404,000
= 201,000
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i 143,500
101 el 4] 212,400 0 212,400
= 105,600
= 31,200
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04 JI2tHIZ2E2NEE S 212,400 0 212,400
O XNY3=SH LRl AtY, ™ol ol2dy] 212,400
— QI 950,000 * 259 = 8IH& 190,000
= 95,000
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= 66,500
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= 10,600
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= 1,650
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= 2,500
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O NAZSH LR2IALE FHYH
400,008 * 202 8,000
= 4,000
= 1,200
2 2,800
O NABEH LX2IAL ASTH 7
10,0008 * 205 * 33| 6,000
=2 3,000
= 900
= 2,100
o1t 10,000 10,000
= 5,000
= 1,500
2 3,500
ST 10,000 10,000
O NABEH LX2IAY S&AIZ X0
300,0002 * 8% * 23l 4,800
= 2,400
= 720
2 1,680
O YREIAY LAY 2EHE &I}
520,000 * 53 * 23l 5,200
= 2,600
= 780
2 1,820
WL 101,600 101,600
=2 50,400
= 14,800
2 36,400
ET] 101,600 101,600
O NEBSH LAY H2H]
101,600,008 * 141 101,600
= 50,400
= 14,800
2 36,400
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307 QI2H0IH 50,000 0 50,000
=2 25,000
= 7,500
= 7,500
02 QIABMBE 50,000 0 50,000
O XHYE NAZSH X2
50,000,008 * 144X 50,000
=2 25,000
= 7,500
= 17,500
EA0|Y S YFHEOE TEHEAY 48,000 0 48,000
= 38,400
2 9,600
307 812+0I & 48,000 0 48,000
= 38,400
2 9,600
02 QIRAHABE 48,000 0 48,000
O B4I1g QI Q12| X2
1,000,0002 * 8% * 6742 48,000
= 38,400
= 9,600
R0t - EES DE=X 23 582,116 625,829 ~43,713
= 174,011
= 408,105
sngal X 582,116 625,829 £43,713
= 174,011
= 408,105
SDIA AR XA 2,080 2,070 10
201 Yereg| 980 980 0
01 AtR2elt| 980 980 0
O stD3A N NARAE &4 +Z
70,0008 * 7Y * 23] 980
202 01t 1,100 1,090 10
01 =2Uoit] 1,100 1,090 10
O DAl AR NS £ oYl
1,100,008 * 14! 1,100
SN2 AEFSHE AMSNR(SH) 580,036 623,759 A43,723
= 174,011
2 406,025
307 812+0I & 580,036 623,759 ~43,723
= 174,011
2 406,025
02 QIAHABE 580,036 623,759 £43,723
O stD3A ASBSHE ATE
580,036,0009 * 14! 580,036
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< 174,011
2 406,025
ZEY FHAY Y 791,972 1,838,250 ~1,046,278
= 582,600
2 209,372
BEY FHXY X 791,972 1,838,250 A1,046,278
= 582,600
2 209,372
BRI X2 (=) 382,600 391,500 8,900
= 382,600
201 Yer2 Y| 4,000 4,300 A300
= 4,000
02 B2 4,000 4,300 A300
O DIS®3 2 A2 333,330% « 128 4,000
= 4,000
401 Al&HIL 20| 378,600 387,200 8,600
= 378,600
01 Al&t| 375,840 384,412 78,572
O XSS KYAY  375,840,00020 * 14 375,840
= 375,840
03 Al&=CH| 2,760 2,788 A28
O e8Xs XA 20l
2,760,0008 * 141 2,760
= 2,760
YFH NS 2Y 36,340 11,000 25,340
101 124l 1,400 4,000 A2,600
04 JIZH22HSES 1,400 4,000 22,600
O MEHs(Th2l) HERH 50,0002 + 108 500
O +¥MXR(5%) XM 50,0002 * 108l 500
O JIRIAF £&FAZ ZERIN
50,0002 * 43l 200
O ZEY MY NY2 FEH
50,0002 * 43l 200
201 Yer2 YY) 4,940 7,000 A2,060
02 IT2YH| 4,940 7,000 A2,060
O 2223 % WAl 3,240
— JIXA AATA W23
70,0008 * 122 840
— 2BEXR(ST) NES ®IIe3
200,000% * 122 2,400
O AN&ZH SR 1,700
— SBXT, MEE &2 222
500,008 * 192 500
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01 Al&H] 30,000 0 30,000
O Latd MEIsE T4 JI=HE 89
30,000,002 * 14} 30,000
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O Szl 4,200
— MRS o Y|
7,008 * 5% + 1202 4,200
03 A2 Y] 1,53 1,000 532
O K 22 2 st 8149
88,0002 * 67H2 528
O HAZolS A SaTY 2T
300,008 * 13| 300
O ZELAMY T 895 HA 84
83,0002 * 402 * 23] 704
301 LB A 700 700 0
10 BAAHIRAS 700 700 0
O BS2AY B9 893 S|
7,000 * 1002 * 13l 700
SAY ANEE 2Y 70,600 79,000 8,400
101 @121t 2,000 2,000 0
04 JIVH22HSE R4 2,000 2,000 0
O 232 MHSNE FEHI
50,0002 * 402 2,000
201 L2y 44,600 48,000 A3,400
02 22| 44,600 48,000 3,400
O 2ZR3 < Al 36,600
- 2XY EYRL HIQS
1,350,008 * 122 16,200
SEY MESNE 24 Y EY ®II23
1,500,002 *123] 18,000
- SXY(BES) 1SR WL
200,0002 * 122 2,400
O ANEZH S 8,000
— SEY BYRAN OINA B4 L B
Ha 1,000,000 * 13l 1,000
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1,000,0002! * 23l 2,000
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1,000,000& = 13 1,000
O g™z MEISKY SMHI L2HUES
3,000,000& = 14 3,000
S$EZ AldZ2 FHI 10,000 10,000 0
401 A &HIL 2048 10,000 10,000 0
01 Al&H| 10,000 10,000 0
O B&d& Ald=2 EHl 10,000,000& * 14 10,000
S& MESIE SAMG(EX) 286,000 0 286,000
= 200,000
i 86,000
401 A &HIL 2048 286,000 0 286,000
= 200,000
= 86,000
01 Al&H| 283,940 0 283,940
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283,940,000& * 14 283,940
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= 85,380
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286,000,000& * 0.72% 2,060
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LHEHHXIE 12,828 10,958 1,870
FHEELE3H &3 12,828 10,958 1,870
701 JIEtHEES 12,828 10,958 1,870
01 JIEfI HE &= 12,828 10,958 1,870
O d4FXN9Y oteHMeld RX2eld 28R E
(20%) 12,828,000& * 14 12,828
HE2AZH (XIS B MO E D) 86,860 76,060 10,800
=Xl 86,860 76,060 10,800
JI2Z /XS 3N 38,400 37,200 1,200
201 23| 34,200 33,000 1,200
01 AbR2t2lH| 13,200 13,000 200
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O XNY9ZNOHAHE SRF& =l
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02 ss2494l 21,000 20,000 1,000
O 2222 2 HA(EQAIZE HAEZ2 5)
1,000,000& = 12& 12,000
O &332 500,000& = 12& 6,000
O ER3 250,000& = 12& 3,000
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01 2| 3,600 3,600 0
O g2F& ol 3,600,000& 3,600
JI2dHl/sEY 11,400 5,800 5,600
201 Et2a | 9,400 5,000 4,400
01 AtS22telyl 5,000 5,000 0
O Ht=ZH| 5,000,000& 5,000
02 ss294l 4,400 0 4,400
O 2322 ¢ HA 200,000& = 1201 & 2,400
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1,000,000& * 244 2,000
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HAR=E | 2,000,000& 2,000
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